Name: Date:

Dilations

The dilation is a reduction F0 <2 L =7 1 and it is an enlarsement ik > 1.
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1. Inthe diagrem below, the ce ey of dilation is point O. Find the scale factor. Is this a reduction or

enlargemeni?

2. In the diagram below, the center of d ition is point Q. Find the scaie factor. Is this a reduction or an

enlargement?
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Determine the point.
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If the dilation Dy(-2,4) equals (1,-2), the scale factor is equal to
1
T2

6. Which transformation represents a dilation?
1) (B4 —= {17

2) (B4 —= (-84

3) (B4) —(—4,-8)

4) (847 — 4.2}

7. Find the scale factor. Is this a reduction or an enlargerens?




9. Find the scale factor. Is this a reductio! .r an enlargement?
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Dilations -

1. What are the coordinates of point {(-1,4) under dilation D_,, centered at the origin?

2. A.Theimage of point A after a dilation, centered at the origin, of 3 15 (6,13). What was the original

location of point A?

B. Find the image of A(2, -3) after the dilation described above.



3. A Find a caordinate rufe for the  lation with center (5, -3) and scale factor 2.

P
L1 LL

I
]

!
)

T
RN

|
|
1

B. Using your coordinate rufe, fir the irage of A{2, -3} after the dilation described above.
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4. Find the coordinates of the image of (2, 6) after a dilation of scale factor -2 with the center of
dilation at (-3, 4).

5. The point 4(6,3) maps onto A'(2,1) under a dilation with respect to the origin. What is the constant
of dilation?

6. Graph triangle ABC, A(-2, 4}, B(-1, 1), and C(-4, 2).
Dilate the triangle with a scale factor ¢f 2, certered at (2, 1).
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8. Triangle ABC has vertices 4(5,6) 4(%,0), and C{3,-3). State and label the coordinates of A4" 5 (",

2
the image of A48 sfier a dilat nof 201, centered at the origin.
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atel guadrilateral ABCD, whose coordinaies are A{(~1,3},

issbfszi, and state the coordinates of A'B'C'D’, the image of

ABCD under & diation of 2, where the center of dilation is {1, 3).
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Under a diation where the center of dilation is the origin, the image of A{-Z,-3} is A'(-6,-9). What

f B{4,0) under the same dilation?




\{.. Triangle ABC has coordinates A= 1y, B3, 1y, and ©{0,-3). On the set of axes below, graph and label

gttt - PR N ¢
AAB'CY, the image of AABC aft  a dilation of 2.
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V. . On the accompanying set of axes

Jwith coordinates A(-1,2}, B(0,8), and C(5,4). Then
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graph &4 5'C, the image of A4 7 witer a dilation of 3, centered at {1, -1). Hint: Your image will not

fit on the grid unless you chonge i scofe.
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Dilation Constructions
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1. Using a compass and a straightedge, dilate the given triangle by a scale factor of 2 with the
center of dilation at Point P.
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2. Dilate Triangle QRS by a sc 1 factor of 3 with the center of dilation Point X.




3. Dilate Quadrilateral ABCD by a scale factor of 2 with the center of dilation at Point A.




4. Dilate Triangle ABC hy a ¢

lle factor of ¥ with the center of dilation at Point N.




5. Dilate the given triangle by a scale factor of -2 with the center of dilation at A.
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6. Dilate the given line segm 'ty a scale factor of E with the center of dilation at A.



